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0=L o + LHEﬁiiZ) + Ruli2
dt

dt
HI - ilw]
HI = il + 22 = LT
w2
Hi(r) —il(t)bvl 1 —il(H)wl
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U2max = KnomRuom2nom = KHOMBM
2nom

U2max = 0.9D(H0MEIM =243 B
Ruom

Uy =\2[f~U2max ~KyyW2max 0 KyyW2max U2max) = (-343.654 240558 0 240.558 343.654)

I = \2l{~6 g3 Knom@2uon =6, Bnox 0 8, Wuow SgesKnounon) = (21213 ~0.071 0 0.071 21.213)

1
V,= —W, =(-1.094 -0.766 0 0.766 1.094)
w

iy = w2y = (4243 % 10° 14142 0 14142 4243 10)

\/E W2max (% Dl]2max)
Y = T =1.094 k:= (\EB EZ[2H0ME¥/2) =0.077
HOpM

k0:=0
P1:=0.25 kl:=k
P2:=0.25 k2= k100.2
P3:=0.25 k3:= kil
P4:=0.25 k4= ki

max

k2 k3 k4
@ (HI) = (kOB{l + Pl Epmaxlilanh[ Dyzj + PZEpmaxmam[Q Dyzj + Psﬁpmaxmam[Q Dyzj + P4Epmaxma;m[Q WZD
max max max

2 2 2 2
HIR&2 HIR&3 HIR4 HI&I
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X Z (valuek éxp(—j [WIAr IE))
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Iy = DFT(=i2,N,,,,..N)

Lafrabs = ABS(Lyp)
il = i](t )
prim k
: 1 —
Idft.prim = DFT(l]primlj:}_z ’Nper’N) Idft.prim.abs = ABS(Idft.prim)
ilref = Immin(wmk + (p)
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return Xabs
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